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Math 8
SCATTER PLOTS AND LINES OF BEST FIT
1. The following scatter plot shows the relationship between temperature and the number of ice creams sold. If the line of best fit represents the equation                 y = 3x + 5, answer the following questions on the next page.
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Part A: Positive, negative, or no association. ____________________
Part B: Draw a line of best fit.
Part C: How many ice creams can be expected to be sold if the temperature is 34 degrees Celsius. Explain or show work.

Part D: Explain why the answer to part C is an estimated ( predicted ) value rather than an exact value. 

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
2.
[image: image2.png]10

A company performed power tests on a set of batteries of the same type. The company
determined that the equation y =100 — 8 9x, where x is the number of hours of use
and y is the percent of battery power remaining, models the battery life. Based on the
equation, what is the best prediction of the percent of remaining power for a battery
after 11 hours of use?

A 1.2%
B 21%
C 10%

D 97.9%




3.
[image: image3.png]28 The owner of a coffee shop compared the amount of hot coffee per day, in fluid ounces
sold and the daily high temperature, in degrees Fahrenheit, per ay. Her data are shown
in the scatter plot below.
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If these data are modeled by the line y=~5.9x + 850, which statement best describes
a valid prediction the owner could make?

A For each temperature Increase of 10°F, the shop can expect to sell about
60 fluid ounces more hot coffee.

B For each temperature decrease of 10°F, the shop can expect to sell about
6 fluid ounces more hot coffee.

C On a day with a high temperature of 0°F, the shop can expect to sell about
145 fluid ounces of hot coffee.

D On a day with a high temperature of 0°F, the shop can expect to sell about
850 fluid ounces of hot coffee.




4.

[image: image4.png]A reporter collected data on y, the current market value, in dollars, of a certain car
for various years, x, after it had been purchased new. The equation below was fit to
the data

¥ = 16,500 — 1,500%
What does the slope of the graph of this equation represent?

Answer

What does the y-intercept of the graph of this equation represent?

Answer





5.

[image: image5.png]37 The scatter plot below shows the average points scored per game by players of
different ages in an adult basketball league.
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Which statement best describes the association between a player's age, in years, and
the average points scored per game?

A There is no association.
B Thereisa nonlinear association,
€ There s a positive linear association and one outlier.

D There s a negative linear association and one outlier.




Part B: Draw a line of best fit.

Part C: Make a conjecture ( a guess ) as to the number of points a 21 year old would score? ______

Part D: Explain the meaning of the slope in the context of the problem.

_________________________________________________________________________________________________________________________________________________________________________________________________________

6.
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Asset of data is represented on the scatter plot below.
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Which equation best models the set of data?
3 3
A y=-3 C y=-ex+l
Y 4x+6 y 6x + 7
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7.

[image: image7.png]16 The scatter plot below can be used to find the approximate rate at which water flows

through a garden hose. The line of best fit for the scatter plot can be described by the
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If the rate, in gallons per minute, continues, approximately how many gallons of water
will flow from the hose in 45 minutes?
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Part B: Explain the meaning of the slope and y-intercept in the context of the problem.

_________________________________________________________________________________________________________________________________________________________________________________________________________
